# The Solutions of Systems of Rational Difference Equations in Terms of Fibonacci Numbers 

E. M. Elsayed ${ }^{\mathrm{a}, \mathrm{b}, *}$, M. Alharthi ${ }^{\mathrm{a}, \mathrm{c}}$<br>${ }^{a}$ Department of Mathematics, Faculty of Science, King Abdulaziz University, Jeddah, Kingdom of Saudi Arabia.<br>${ }^{b}$ Department of Mathematics Faculty of Science, Mansoura University, Mansoura, 35516, Egypt<br>${ }^{c}$ Department of Mathematics, Faculty of Science, Jeddah University, Jeddah, Kingdom of Saudi Arabia.


#### Abstract

In this paper, we get the form of the solutions of the following difference equation systems with non-zero real numbers initial conditions. $$
\begin{aligned} & z_{n+1}=\frac{w_{n}\left(z_{n-4}+w_{n-5}\right)}{w_{n-5}+z_{n-4}-w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(z_{n-3}+w_{n-4}\right)}{2 z_{n-3}+w_{n-4}} \\ & z_{n+1}=\frac{w_{n}\left(w_{n-5}-z_{n-4}\right)}{w_{n-5}-z_{n-4}+w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(w_{n-4}-z_{n-3}\right)}{w_{n-4}} \end{aligned}
$$


Keywords: difference equation, recursive sequences, system of difference equations 2010 MSC: 39A10

## 1. Introduction

Recently, there has been great interest in studying difference equation systems. In population biology, economics, probability theory, genetics, psychology, etc., there is a need for methods that can be used to investigate equations that arise in mathematical models describing real life situations. Difference equations naturally appear as discrete analogues and numerical solutions of differential and delay differential equations with applications in biology, ecology, economics, physics, etc. Although difference equations are very simple in form, it is extremely difficult to understand thoroughly the behaviors of their solution. Recent research has focused strongly on the qualitative analysis of rational difference equations and difference equation

[^0]systems. There are numerous papers on the difference equations system, for instance, Cinar [5] investigated the periodicity of the system's positive solutions to the difference equations
$$
z_{n+1}=\frac{1}{w_{n}}, \quad w_{n+1}=\frac{w_{n}}{z_{n-1} w_{n-1}}
$$

Ozban [28] has studied the positive solution of the system of rational difference equations

$$
z_{n+1}=\frac{a}{w_{n-3}}, \quad w_{n+1}=\frac{b w_{n-3}}{z_{n-q} w_{n-q}}
$$

Kurbanli et al.[24] has examined the behavior of positive solutions of the following system

$$
z_{n+1}=\frac{z_{n-1}}{1+z_{n-1} w_{n}}, \quad w_{n+1}=\frac{w_{n-1}}{1+w_{n-1} z_{n}}
$$

The periodic nature and the form of the solutions of the following nonlinear difference equations systems

$$
z_{n+1}=\frac{z_{n} w_{n-2}}{w_{n-1( \pm 1 \pm} z_{n} w_{n-2)}}, \quad w_{n+1}=\frac{w_{n} z_{n-2}}{z_{n-1( \pm 1 \pm} w_{n} z_{n-2)}}
$$

has been studied by Elsayed and El-Metwally. [18].

The boundedness, and the form of the solutions of the following systems of rational difference equations

$$
z_{n+1}=\frac{z_{n-3}}{ \pm 1 \pm z_{n-3} w_{n-1}}, \quad w_{n+1}=\frac{w_{n-3}}{ \pm 1 \pm w_{n-3} z_{n-1}}
$$

has been investigated by Touafek et al. [30] .

In [35] Zhang et al. studied the boundedness, the persistence and global asymptotic stability of the positive solutions of the system of difference equations

$$
z_{n+1}=A+\frac{w_{n-m}}{z_{n}}, \quad w_{n+1}=A+\frac{z_{n-m}}{w_{n}}
$$

Our aim in this paper is to investigate the form of the solutions of the following nonlinear difference equations systems

$$
\begin{aligned}
& z_{n+1}=\frac{w_{n}\left(z_{n-4}+w_{n-5}\right)}{w_{n-5}+z_{n-4}-w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(z_{n-3}+w_{n-4}\right)}{2 z_{n-3}+w_{n-4}} \\
& z_{n+1}=\frac{w_{n}\left(w_{n-5}-z_{n-4}\right)}{w_{n-5}-z_{n-4}+w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(w_{n-4}-z_{n-3}\right)}{w_{n-4}}
\end{aligned}
$$

with non-zero real numbers initial conditions $z_{-4}, z_{-3}, z_{-2}, z_{-1}, z_{0}, w_{-5}, w_{-4}, w_{-3}, w_{-2}, w_{-1}$ and $w_{0}$.
Definition 1.1. Let $\left\{F_{n}\right\}_{n \geq 0}=\{0,1,1,2,3,5,8,21, \ldots\}$ be the Fibonacci sequence defined by

$$
\begin{gathered}
F_{n+2}=F_{n+1}+F_{n}, \quad n \in N \\
F_{0}=0, F_{1}=1
\end{gathered}
$$

2. The System $z_{n+1}=\frac{w_{n}\left(z_{n-4}+w_{n-5}\right)}{w_{n-5}+z_{n-4}-w_{n}}, w_{n+1}=\frac{z_{n-3}\left(z_{n-3}+w_{n-4}\right)}{2 z_{n-3}+w_{n-4}}$

In this section, we study the solutions of the system of difference equations

$$
\begin{equation*}
z_{n+1}=\frac{w_{n}\left(z_{n-4}+w_{n-5}\right)}{w_{n-5}+z_{n-4}-w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(z_{n-3}+w_{n-4}\right)}{2 z_{n-3}+w_{n-4}} \tag{2.1}
\end{equation*}
$$

where the initial conditions $z_{-4}, z_{-3}, z_{-2}, z_{-1}, z_{0}, w_{-5}, w_{-4}, w_{-3}, w_{-2}, w_{-1}, w_{0}$ are arbitrary non-zero real numbers.

Theorem 2.1. If $\left\{z_{n}, w_{n}\right\}$ are solutions of difference equation system (2.1). Then

$$
\begin{aligned}
& z_{5 n-4}=\frac{m(a+f)}{a+f-m}, \quad n \geq 1 \\
& z_{5 n-3}=b, \quad z_{5 n-2}=c, \quad z_{5 n-1}=d, \quad z_{5 n}=e, \quad n \geq 0
\end{aligned}
$$

for $n \geq 0$,

$$
\begin{gathered}
w_{5 n-4}=\frac{b\left(F_{2 n} b+F_{2 n-1} g\right)}{F_{2 n+1} b+F_{2 n} g}, \quad w_{5 n-3}=\frac{c\left(F_{2 n} c+F_{2 n-1} h\right)}{F_{2 n+1} c+F_{2 n} h} \\
w_{5 n-2}=\frac{d\left(F_{2 n} d+F_{2 n-1} k\right)}{F_{2 n+1} d+F_{2 n} k}, \quad w_{5 n-1}=\frac{e\left(F_{2 n} e+F_{2 n-1} l\right)}{F_{2 n+1} e+F_{2 n} l} \\
w_{5 n}=\frac{m(a+f)\left(F_{2 n+1} a+F_{2 n+1} f-F_{2 n-1} m\right)}{(a+f-m)\left(F_{2 n+2} a+F_{2 n+2} f-F_{2 n} m\right)}
\end{gathered}
$$

where $z_{-4}=a, z_{-3}=b, z_{-2}=c, z_{-1}=d, z_{0}=e, w_{-5}=f, w_{-4}=g, w_{-3}=h, w_{-2}=k, w_{-1}=l, w_{0}=m$ and $\left\{F_{n}\right\}_{n=-1}^{\infty}=\{1,0,1,1,2,3,5,8, \ldots\}, F_{n+2}=F_{n+1}+F_{n}, F_{-1}=1$.

Proof. The proof will be achieved by the Mathematical Induction. For $n=0$, the result holds. Now suppose that $n \geq 1$ and that our assumption holds for $n-1$, that is,

$$
\begin{aligned}
& z_{5 n-9}= \frac{m(a+f)}{a+f-m}, \\
& z_{5 n-8}= b, \quad z_{5 n-7}=c, \quad z_{5 n-6}=d, \quad z_{5 n-5}=e, \\
& w_{5 n-10}=\frac{m(a+f)\left(F_{2 n-3} a+F_{2 n-3} f-F_{2 n-5} m\right)}{(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)}, \\
& w_{5 n-9}= \frac{b\left(F_{2 n-2} b+F_{2 n-3} g\right)}{F_{2 n-1} b+F_{2 n-2} g}, \quad w_{5 n-8}=\frac{c\left(F_{2 n-2} c+F_{2 n-3} h\right)}{F_{2 n-1} c+F_{2 n-2} h}, \\
& w_{5 n-7}= \frac{d\left(F_{2 n-2} d+F_{2 n-3} k\right)}{F_{2 n-1} d+F_{2 n-2} k}, \quad w_{5 n-6}=\frac{e\left(F_{2 n-2} e+F_{2 n-3} l\right)}{F_{2 n-1} e+F_{2 n-2} l}, \\
& w_{5 n-5}=\frac{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}{(a+f-m)\left(F_{2 n} a+F_{2 n} f-F_{2 n-2} m\right)} .
\end{aligned}
$$

Now it follows from (2.1) that

$$
z_{5 n-4}=\frac{w_{5 n-5}\left(z_{5 n-9}+w_{5 n-10}\right)}{w_{5 n-10}+z_{5 n-9}-w_{5 n-5}}
$$

Divide the numerator and the dominator by $w_{5 n-5}\left(z_{5 n-9}+w_{5 n-10}\right)$, then

$$
z_{5 n-4}=\frac{1}{\frac{1}{w_{5 n-5}}-\frac{1}{w_{5 n-10}+z_{5 n-9}}}
$$

Calculate

$$
\begin{aligned}
z_{5 n-9}+w_{5 n-10} & =\frac{m(a+f)}{a+f-m}+\frac{m(a+f)\left(F_{2 n-3} a+F_{2 n-3} f-F_{2 n-5} m\right)}{(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)} \\
& =\frac{m(a+f)}{a+f-m}\left\{1+\frac{F_{2 n-3} a+F_{2 n-3} f-F_{2 n-5} m}{F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m}\right\} \\
& =\frac{m(a+f)}{a+f-m} \times\left\{\frac{F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m+F_{2 n-3} a+F_{2 n-3} f-F_{2 n-5} m}{F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m}\right\} \\
& =\frac{m(a+f)\left\{\left(F_{2 n-2}+F_{2 n-3}\right) a+\left(F_{2 n-2}+F_{2 n-3}\right) f-\left(F_{2 n-4}+F_{2 n-5}\right) m\right\}}{(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)} \\
& =\frac{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}{(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)} .
\end{aligned}
$$

Therefore

$$
\begin{aligned}
z_{5 n-4} & =\frac{1}{\frac{1}{w_{5 n-5}}-\frac{1}{w_{5 n-10}+z_{5 n-9}}} \\
& =\frac{1}{\frac{(a+f-m)\left(F_{2 n} a+F_{2 n} f-F_{2 n-2} m\right)}{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}-\frac{(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)}{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}} \\
& =\frac{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}{(a+f-m)\left(F_{2 n} a+F_{2 n} f-F_{2 n-2} m\right)-(a+f-m)\left(F_{2 n-2} a+F_{2 n-2} f-F_{2 n-4} m\right)} \\
& =\frac{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}{(a+f-m)\left\{\left(F_{2 n}-F_{2 n-2}\right) a+\left(F_{2 n}-F_{2 n-2}\right) f-\left(F_{2 n-2}-F_{2 n-4}\right) m\right\}} \\
& =\frac{m(a+f)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)}{(a+f-m)\left(F_{2 n-1} a+F_{2 n-1} f-F_{2 n-3} m\right)} \\
& =\frac{m(a+f)}{a+f-m} .
\end{aligned}
$$

And

$$
\begin{aligned}
w_{5 n-4} & =\frac{z_{5 n-8}\left(z_{5 n-8}+w_{5 n-9}\right)}{2 z_{5 n-8}+w_{5 n-9}} \\
& =\frac{b\left(b+\frac{b\left(F_{2 n-2} b+F_{2 n-3} g\right)}{F_{2 n-1} b+F_{2 n-2} g}\right.}{2 b+\frac{b\left(F_{2 n-2} b+F_{2 n-3} g\right)}{F_{2 n-1} b+F_{2 n-2} g}} \\
& =\frac{b\left[b\left(F_{2 n-1} b+F_{2 n-2} g\right)+b\left(F_{2 n-2} b+F_{2 n-3} g\right)\right]}{2 b\left(F_{2 n-1} b+F_{2 n-2} g\right)+b\left(F_{2 n-2} b+F_{2 n-3} g\right)} \\
& =\frac{b\left[b\left(F_{2 n-1}+F_{2 n-2}\right)+g\left(F_{2 n-2}+F_{2 n-3}\right)\right]}{b\left(2 F_{2 n-1}+F_{2 n-2}\right)+g\left(2 F_{2 n-2}+F_{2 n-3}\right)} \\
& =\frac{b\left[b\left(F_{2 n-1}+F_{2 n-2}\right)+g\left(F_{2 n-2}+F_{2 n-3}\right)\right]}{b\left[F_{2 n-1}+\left(F_{2 n-1}+F_{2 n-2}\right)\right]+g\left[F_{2 n-2}+\left(F_{2 n-2}+F_{2 n-3}\right)\right]} \\
& =\frac{b\left(F_{2 n} b+F_{2 n-1} g\right)}{b\left(F_{2 n-1}+F_{2 n}\right)+g\left(F_{2 n-2}+F_{2 n-1}\right)} \\
& =\frac{b\left(F_{2 n} b+F_{2 n-1} g\right)}{F_{2 n+1} b+F_{2 n} g} .
\end{aligned}
$$



Figure 1: $z_{0}=0.1, z_{-1}=0.22, z_{-2}=1.22, z_{-3}=0.4, z_{-4}=0.22, z_{-5}=0,06, w_{0}=1.3, w_{-1}=0.1, w_{-2}=0.03, w_{-3}=$ $0.2, w_{-4}=0.5$ and $w_{-5}=0.3$.

$$
\begin{aligned}
w_{5 n-3} & =\frac{z_{5 n-7}\left(z_{5 n-7}+w_{5 n-8}\right)}{2 z_{5 n-7}+w_{5 n-8}} \\
& =\frac{c\left(c+\frac{c\left(F_{2 n-2} c+F_{2 n-3} h\right)}{F_{2 n-1} c+F_{2 n-2} h}\right.}{2 c+\frac{c\left(F_{2 n-2} c+F_{2 n-3} h\right)}{F_{2 n-1} c+F_{2 n-2} h}} \\
& =\frac{c\left[c\left(F_{2 n-1} c+F_{2 n-2} h\right)+c\left(F_{2 n-2} c+F_{2 n-3} h\right)\right]}{2 c\left(F_{2 n-1} c+F_{2 n-2} h\right)+c\left(F_{2 n-2} c+F_{2 n-3} h\right)} \\
& =\frac{c\left[c\left(F_{2 n-1}+F_{2 n-2}\right)+h\left(F_{2 n-2}+F_{2 n-3}\right)\right]}{c\left(2 F_{2 n-1}+F_{2 n-2}\right)+h\left(2 F_{2 n-2}+F_{2 n-3}\right)} \\
& =\frac{c\left(F_{2 n} c+F_{2 n-1} h\right)}{c\left(F_{2 n-1}+F_{2 n}\right)+h\left(F_{2 n-2}+F_{2 n-1}\right)} \\
& =\frac{c\left(F_{2 n} c+F_{2 n-1} h\right)}{F_{2 n+1} c+F_{2 n} h} .
\end{aligned}
$$

Similarly, we can obtain the other relations. Thus, the proof is completed.

### 2.1. Numerical Examples

From Eq.(2.1) we assume the initial conditions
3. The System $z_{n+1}=\frac{w_{n}\left(w_{n-5}-z_{n-4}\right)}{w_{n-5}-z_{n-4}+w_{n}}, w_{n+1}=\frac{z_{n-3}\left(w_{n-4}-z_{n-3}\right)}{w_{n-4}}$

In this section, we study the solutions of the system of difference equations

$$
\begin{equation*}
z_{n+1}=\frac{w_{n}\left(w_{n-5}-z_{n-4}\right)}{w_{n-5}-z_{n-4}+w_{n}}, \quad w_{n+1}=\frac{z_{n-3}\left(w_{n-4}-z_{n-3}\right)}{w_{n-4}} \tag{3.1}
\end{equation*}
$$

where the initial conditions $z_{-4,} z_{-3}, z_{-2}, z_{-1}, z_{0}, w_{-5}, w_{-4}, w_{-3}, w_{-2,} w_{-1}$, $w_{0}$ are arbitrary non-zero real numbers.

Theorem 3.1. If $\left\{z_{n}, w_{n}\right\}$ are solutions of difference equation system (3.1). Then for $n=0,1,2, \ldots$,


Figure 2: It shows the solution of Eq.(2.1) when we consider that $z_{0}=2.2, z_{-1}=0.3, z_{-2}=1.55, z_{-3}=0.6, z_{-4}=3.07, z_{-5}=$ $0,08, w_{0}=2.3, w_{-1}=0.12, w_{-2}=0.03, w_{-3}=1.9, w_{-4}=0.8$ and $w_{-5}=5.6$.

$$
z_{5 n-4}=\frac{-m^{2}(a-f)^{2}}{\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)\left(F_{n} a-F_{n} f-F_{n-1} m\right)\left(F_{n+1} a-F_{n+1} f-F_{n} m\right)}, \quad n \geq 1,
$$

for $n \geq 0$,

$$
\begin{gathered}
z_{5 n-3}=\frac{-b^{2} g(b-g)}{\left(F_{n-2} b+F_{n-1} g\right)\left(F_{n-1} b+F_{n} g\right)\left(F_{n} b+F_{n+1} g\right)}, \\
z_{5 n-2}=\frac{-c^{2}(c-h)}{\left(F_{n-2} c+F_{n-1} h\right)\left(F_{n-1} c+F_{n} h\right)\left(F_{n} c+F_{n+1} h\right)}, \\
z_{5 n-1}=\frac{-d^{2} k(d-k)}{\left(F_{n-2} d+F_{n-1} k\right)\left(F_{n-1} d+F_{n} k\right)\left(F_{n} d+F_{n+1} k\right)}, \\
z_{5 n}=\frac{-e^{2} l(e-l)}{\left(F_{n-2} e+F_{n-1} l\right)\left(F_{n-1} e+F_{n} l\right)\left(F_{n} e+F_{n+1} l\right)}, \\
w_{5 n-4}=\frac{-b^{2} g(b-g)}{\left(F_{n-2} b+F_{n-1} g\right)\left(F_{n-1} b+F_{n} g\right)^{2}}, \quad w_{5 n-3}=\frac{-c^{2} h(c-h)}{\left(F_{n-2} c+F_{n-1} h\right)\left(F_{n-1} c+F_{n} h\right)^{2}}, \\
w_{5 n-2}=\frac{-d^{2} k(d-k)}{\left(F_{n-2} d+F_{n-1} k\right)\left(F_{n-1} d+F_{n} k\right)^{2}}, \quad w_{5 n-1}=\frac{-e^{2} l(e-l)}{\left(F_{n-2} e+F_{n-1} l\right)\left(F_{n-1} e+F_{n} l\right)^{2}}, \\
w_{5 n}=\frac{-m^{2}(a-f)^{2}}{\left(F_{n} a-F_{n} f-F_{n-1} m\right)\left(F_{n+1} a-F_{n+1} f-F_{n} m\right)^{2}},
\end{gathered}
$$

where where $z_{-4}=a, z_{-3}=b, z_{-2}=c, z_{-1}=d, z_{0}=e, w_{-5}=f, w_{-4}=g, w_{-3}=h, w_{-2}=k, w_{-1}=$ $l, w_{0}=m,\left\{F_{n}\right\}_{n=-2}^{\infty}=\{-1,1,0,1,1,2,3,5,8, \ldots\}, F_{n+2}=F_{n+1}+F_{n}$ and $F_{-2}=-1, F_{-1}=1$.

Proof. The proof will be achieved by the Mathematical Induction. For $n=0$, the result holds. Now suppose that $n \geq 1$ and that our assumption holds for $n-1$, that is,

$$
z_{5 n-9}=\frac{-m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)\left(F_{n} a-F_{n} f-F_{n-1} m\right)}
$$

$$
\begin{gathered}
z_{5 n-8}=\frac{-b^{2} g(b-g)}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)\left(F_{n-1} b+F_{n} g\right)}, \\
z_{5 n-7}=\frac{-c^{2}(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)\left(F_{n-1} c+F_{n} h\right)}, \\
z_{5 n-6}=\frac{-d^{2} k(d-k)}{\left(F_{n-3} d+F_{n-2} k\right)\left(F_{n-2} d+F_{n-1} k\right)\left(F_{n-1} d+F_{n} k\right)}, \\
z_{5 n-5}=\frac{-e^{2} l(e-l)}{\left(F_{n-3} e+F_{n-2} l\right)\left(F_{n-2} e+F_{n-1} l\right)\left(F_{n-1} e+F_{n} l\right)}, \\
w_{5 n-10}=\frac{-m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)^{2}} \\
w_{5 n-9}=\frac{-b^{2} g(b-g)}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)^{2}}, \quad w_{5 n-8}=\frac{-c^{2} h(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)^{2}}, \\
w_{5 n-7}=\frac{-d^{2} k(d-k)}{\left(F_{n-3} d+F_{n-2} k\right)\left(F_{n-2} d+F_{n-1} k\right)^{2}}, \quad w_{5 n-6}=\frac{-e^{2} l(e-l)}{\left(F_{n-3} e+F_{n-2} l\right)\left(F_{n-2} e+F_{n-1} l\right)^{2}}, \\
w_{5 n-5}=\frac{-m^{2}(a-f)^{2}}{\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)\left(F_{n} a-F_{n} f-F_{n-1} m\right)^{2}} .
\end{gathered}
$$

Now it follows from (3.1) that

$$
\begin{aligned}
z_{5 n-4} & =\frac{w_{5 n-5}\left(w_{5 n-10}-z_{5 n-9}\right)}{w_{5 n-10}-z_{5 n-9}+w_{5 n-5}} \\
& =\frac{1}{\frac{1}{w_{5 n-5}}+\frac{1}{w_{5 n-10}-z_{5 n-9}}} .
\end{aligned}
$$

Calculate

$$
\begin{aligned}
w_{5 n-10}-z_{5 n-9}= & \frac{-m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)^{2}} \\
& +\frac{m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)\left(F_{n} a-F_{n} f-F_{n-1} m\right)} \\
= & \frac{-m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)} \\
& \times\left(\frac{1}{F_{n-1} a-F_{n-1} f-F_{n-2} m}-\frac{1}{F_{n} a-F_{n} f-F_{n-1} m}\right) \\
= & \frac{-m^{2}(a-f)^{2}}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)} \\
& \times\left(\frac{F_{n} a-F_{n} f-F_{n-1} m-\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)}{\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)\left(F_{n} a-F_{n} f-F_{n-1} m\right)}\right) \\
= & \frac{-m^{2}(a-f)^{2}\left[\left(F_{n}-F_{n-1}\right) a-\left(F_{n}-F_{n-1}\right) f-\left(F_{n-1}-F_{n-2}\right) m\right]}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)^{2}\left(F_{n} a-F_{n} f-F_{n-1} m\right)} \\
= & \frac{-m^{2}(a-f)^{2}\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)}{\left(F_{n-2} a-F_{n-2} f-F_{n-3} m\right)\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)^{2}\left(F_{n} a-F_{n} f-F_{n-1} m\right)} \\
= & \frac{-m^{2}(a-f)^{2}}{\left(F_{n-1} a-F_{n-1} f-F_{n-2} m\right)^{2}\left(F_{n} a-F_{n} f-F_{n-1} m\right)}
\end{aligned}
$$

Also

$$
w_{5 n-4}=\frac{z_{5 n-8}\left(w_{5 n-9}-z_{5 n-8}\right)}{w_{5 n-9}}
$$

Calculate

$$
\begin{aligned}
w_{5 n-9}-z_{5 n-8}= & \frac{-b^{2} g(b-g)}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)^{2}} \\
& +\frac{b^{2} g(b-g)}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)\left(F_{n-1} b+F_{n} g\right)} \\
= & \frac{1}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)}\left(\frac{1}{F_{n-2} b+F_{n-1} g}-\frac{1}{F_{n-1} b+F_{n} g}\right) .
\end{aligned}
$$

After some calculations we get

$$
w_{5 n-9}-z_{5 n-8}=\frac{b^{4} g^{2}(b-g)^{2}}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)^{3}\left(F_{n-1} b+F_{n} g\right)^{2}} .
$$

Then

$$
\begin{aligned}
w_{5 n-4}= & \frac{\frac{b^{4} g^{2}(b-g)^{2}}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)^{3}\left(F_{n-1} b+F_{n} g\right)^{2}}}{\frac{b^{2} g(b-g)}{\left(F_{n-3} b+F_{n-2} g\right)\left(F_{n-2} b+F_{n-1} g\right)^{2}}} \\
= & \frac{-b^{2} g(b-g)}{\left(F_{n-2} b+F_{n-1} g\right)\left(F_{n-1} b+F_{n} g\right)^{2}} . \\
& \quad w_{5 n-4}=\frac{z_{5 n-7}\left(w_{5 n-8}-z_{5 n-7}\right)}{w_{5 n-8}} .
\end{aligned}
$$

Calculate

$$
\begin{aligned}
w_{5 n-8}-z_{5 n-7}= & \frac{-c^{2} h(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)^{2}} \\
& +\frac{c^{2} h(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)\left(F_{n-1} c+F_{n} h\right)} \\
= & \frac{-c^{2} h(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)}\left(\frac{1}{F_{n-2} c+F_{n-1} h}-\frac{1}{F_{n-1} c+F_{n} h}\right) .
\end{aligned}
$$

After some calculations we get

$$
w_{5 n-8}-z_{5 n-7}=\frac{c^{4} h^{2}(c-h)^{2}}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)^{3}\left(F_{n-1} c+F_{n} h\right)^{2}} .
$$

Then

$$
\begin{aligned}
& w_{5 n-4}=\frac{\frac{c^{4} h^{2}(c-h)^{2}}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)^{3}\left(F_{n-1} c+F_{n} h\right)^{2}}}{-c^{2} h(c-h)} \\
&=\frac{-c^{2} h(c-h)}{\left(F_{n-3} c+F_{n-2} h\right)\left(F_{n-2} c+F_{n-1} h\right)^{2}} \\
&\left(F_{n-2} c+F_{n-1} h\right)\left(F_{n-1} c+F_{n} h\right)^{2}
\end{aligned}
$$

Similarly, we can obtain the other relations. Thus, the proof is completed.

### 3.1. Numerical Examples

Consider the difference system equation (3.1) with the initial conditions


Figure 3: $z_{0}=0.2, z_{-1}=0.3, z_{-2}=1.55, z_{-3}=0.6, z_{-4}=0.07, z_{-5}=0,08, w_{0}=2.3, w_{-1}=3.12, w_{-2}=5.03, w_{-3}=4, w_{-4}=$ 0.8 and $w_{-5}=0.6$.


Figure 4: It shows the solution of Eq.(3.1) when we assume that $z_{0}=2.5, z_{-1}=0.19, z_{-2}=1.50, z_{-3}=0.8, z_{-4}=0.07, z_{-5}=$ $0,06, w_{0}=1.1, w_{-1}=0.20, w_{-2}=2.05, w_{-3}=3.65, w_{-4}=1.9$ and $w_{-5}=0.9$.

## References

[1] R.P. Agarwal, E.M. Elsayed, On the solution of fourth-order rational recursive sequence, Advanced Studies in Contemporary Mathematics, 20 (2010), 525-545.
[2] M. Aloqeili, Dynamics of a rational difference equation, Appl. Math. Comp., 176 (2006), 768-774.
[3] A. Asiri, E. M. Elsayed, M. M. El-Dessoky, On the solutions and periodic nature of some systems of difference equations, J. Comput. Theor. Nanosci., 12 (2015), 3697-3704.
[4] N. Battaloglu, C. Cinar, I. Yalcınkaya, The dynamics of the difference equation, ARS Combinatoria, 97 (2010), 281-288.
[5] C. Cinar, On the positive solutions of the difference equation system $z_{n+1}=\frac{1}{w_{n}}, w_{n+1}=\frac{w_{n}}{z_{n-1} w_{n-1}}$, Appl. Math. Comput., 158 (2004), 303-305.
[6] D. Clark, M. R. S. Kulenovic, A coupled system of rational difference equations, Comput. Math. Appl., 43 (2002), 849-867.
[7] R. DeVault, E. A. Grove, G. Ladas, R. Levins, C. Puccia, Oscillation and stability in models of a perennial grass, Proc. Dynam. Sys. Appl., 1994 (1994), 87-93.
[8] Q. Din, On a system of rational difference equation, Demonstratio Math., 2 (2014) 324-335.
[9] Q. Din, Qualitative nature of a discrete predator-prey system, Contem. Methods Math. Phys. Grav., 2015 (2015), 27-42.
[10] Q. Din, M. N. Qureshi, A. Q. Khan, Dynamics of a fourth-order system of rational difference equations, Adv. Differential Equations 2012 (2012), 1-15.
[11] E.M. Elabbasy, H. El-Metwally, E.M. Elsayed, Global behavior of the solutions of difference equation, Adv. Differ. Equ., 2011 (2011), 2011-2028.
[12] E.M. Elabbasy, H. El-Metwally, E.M. Elsayed, Some properties and expressions of solutions for a class of nonlinear difference equation, Utilitas Mathematica, 87 (2012), 93-110.
[13] M. M. El-Dessoky, On the solutions and periodicity of some nonlinear systems of difference equations, J. Nonlinear Sci. Appl., 9 (2016), 2190-2207.
[14] M. M. El-Dessoky, E. M. Elsayed, On the solutions and periodic nature of some systems of rational difference equations, J. Comp. Anal. Appl., 18 (2015), 206-218.
[15] H. El-Metwally, E. M. Elsayed, Qualitative behavior of some rational difference equations, J. Comput. Anal. Appl., 20 (2016), 226-236.
[16] E.M. Elsayed, On the solutions of a rational system of difference equations, Fasciculi Mathematici, 45 (2010), 25-36.
[17] E. M. Elsayed, A. Alghamdia, The form of the solutions of nonlinear difference equations systems, J. Nonlinear Sci. Appl., 9 (2016), 3179-3196.
[18] E. M. Elsayed, H. A. El-Metwally, On the solutions of some nonlinear systems of difference equations, Adv. Difference Equ., 2013 (2013), 1-14.
[19] M.E. Erdogan, C. Cinar, I. Yalcinkaya, On the dynamics of the recursive sequence, Comput. Math. Appl., 61 (2011), 533-537.
[20] A. Gelisken, M. Kara, Some general systems of rational difference equations, J. Differ. Equ., 2015 (2015), 1-7.
[21] E. A. Grove, G. Ladas, L. C. McGrath and C. T. Teixeira, Existence and behavior of solutions of a rational system, Commun. Appl. Nonlinear Anal., 8 (2001), 1-25.
[22] T. F. Ibrahim, N. Touafek, Max-type system of difference equations with positive two-periodic sequences, Math. Methods Appl. Sci., 37 (2014), 2541-2553.
[23] A. Q. Khan, M. N. Qureshi, Global dynamics of a competitive system of rational difference equations, Math. Methods Appl. Sci., 38 (2015), 4786-4796.
[24] A. S. Kurbanli, C. Cinar, I. Yalcinkaya, On the behavior of positive solutions of the system of rational difference equations, Math. Comput. Modelling, 53, (2011), 1261-1267.
[25] A.S. Kurbanli, On the behavior of solutions of the system of rational difference equations, Adv. Differ. Equ., 37 (2011), 2021-2040.
[26] H. Ma, H. Feng, On positive solutions for the rational difference equation systems, Int. Scho. Res. Not., 2014 (2014), 1-4.
[27] M. Mansour, M.M. El-Dessoky, E.M. Elsayed, On the solution of rational systems of difference equations, J. Comp. Anal. Appl., 15 (2013), 967-976.
[28] A.Y. Ozban, On the system of rational difference equations $z_{n+1}=\frac{z_{n-1}}{1+z_{n-1} w_{n}}, w_{n+1}=\frac{w_{n-1}}{1+w_{n-1} z_{n}}$, Appl. Math. Comp., 188 (2007), 833-837.
[29] N. Touafek, E.M. Elsayed, On the solutions of systems of rational difference equations, Math. Comput. Mod., 55 (2012), 1987-1997
[30] N. Touafek, E. M. Elsayed, On a second order rational systems of difference equation, Hokkaido Math. J., 44 (2015), 29-45.
[31] N. Touafek, E.M. Elsayed, On the periodicity of some systems of nonlinear difference equations, Bull. Math. Soc. Sci. Math. Roumanie, 2 (2012), 217-224.
[32] I. Yalicınkaya, On the global asymptotic behavior of a system of two nonlinear difference equations, Ars Combin., 95 (2010), 151-159.
[33] Y. Yazlik, E. M. Elsayed, N. Taskara, On the behaviour of the solutions of difference equation systems, J. Comput. Anal. Appl., 16 (2014), 932-941.
[34] Y. Yazlik, D. T. Tollu, N. Taskara, On the solutions of a max-type difference equation system, Math. Methods Appl. Sci., 38 (2015), 4388-4410.
[35] Y. Zhang, X. Yang, G.M. Megson, D.J. Evans, On the system of rational difference equations, Appl. Math. Comp., 176 (2006), 403-408


[^0]:    *Corresponding author
    Email address: moaibinu@yahoo.com / mathewa@dut.ac.za (E. M. Elsayed)

